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forn o, R it 2020 # wrer et Which country’s chairmanship has |

e feae & v & g oY v off | from January 1%, 2024 for BRICS 2

(&) T () (B) Wi (A) India (B) Russia
(D) foraagm (C) Brazil (D) Iran
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19.
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festival of "Kumbh

In Uttar Pradesh, the
e confluence of

Mela” is celebrated at tl

which rivers ? . L

(A) Ganga, Yamuna and mythical Saraswali

(B) Kaveri, Sarayu and mythical
Saraswati

(C) Narmada and Brahmaputra

(D) Tapi and Narmada
T wew faef ) Pt
fafta wer

§ 3 fous Rem &
e e 1 vl st PR 2

() $h (B) T WA

(C) Forem (D)-3&m

The Uttar Pradesh Financial Corporation
(UPFC) plays a key role in providing
financial assistance for the development
of which of the following ?

(A) Agriculture  (B) Healthcare
(C) Education (D) ]_ndusm

il g gwm ey

(A) TEERER  (B) ymrm

22.

Give full form of Nlé.

(A) National Incubation Agency
(B) Naval Investigation Agency
(C) New Investigation Agency
(Dl) National Investigation Agency
EFIgeI-—FATE Hed & 8 ST A
ﬁ?ﬂ?’ﬁ % ﬁ:'l'({ a3 9E o—
ot &1 AW Frefafea § 8 #5712
(A) ST 315

(B)* SATORIH 71T

(C) Tater fersrg

Which of the following is the name of
the operation launched by the India

evacuate Indian national from Israe
Hamas conflict zone ?
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Praferfte & @ ) o wdw oo F wafs (13,
W = gt sferri # 0
(A) St wrifyders)
(B) Fremart (g 3u-ffes)
(© m@mmm)

of the following is the highest—
ranking Police Officer in the State of
Uttar Pradesh 7
g;g "'S'“Guu'do_f)l’bllce) 4
(C) ACP (Assistant Commissioner of

srEaiies v % forg afewat, gar s
we1 I Prfefias 4 & fsm am & 9

W # 2
(A) Aftween (B) frefree
(C) Fadtwean (D). #fFea

Growing vegetables, flowers and fruits
for commercial use is known as which of
the following ?

(A) Sericulture (B) Pisciculture
(C) Viticulture (D) Horticulture
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68, ‘Wi we N w Ivwi R 2 7. wa 77 % 4 @ fafom fem e A AvEe

(A) | (B)' ¥ qirel i | A :
€ 7 (D) & Find the remainder when 77 is divided a,af’-‘g
: by 4. ;E*’ 5
. g du T FRm e w d 2 @A) B2, (©3 ijﬁ} e
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e wa F10 |

A vendor bought bananas at 6 for ¥ 10
and sold them at 4 for T 6. Find his gain
or loss percent.

(A)+10% 714/ gain (B) 10% &if3/loss

(C) 8% ¥ /gain (D) 8% ¥/ loss

84. = o arits R, 120 aramon o W3

%2 7 1,260 %1 % s it 2

: annual instalment will discharge a
debt of T 1,260 due in 3 years at 12%

simple interest 7

(A) 325

(C) T425

(B)-¥ 375
(D) T 475

88, W9 3OS =aEE # T 76,000 F £

o | 8 e & W, e 2 57,0
N ESEE2 | F e A f

profit was divided

gy T
How many ferms are there between

12, 15, 18, <00, 877
?A;:s ®)26 ()27 (Dy28

awtmmz#mmzoamtrm

9,12, 15, 18, «coeee

"t oy e A BN ForERT ETS 3

qﬁuﬂ%ﬁwﬁﬁtmtmzl

The perimeters of two squares are 52 cm

and 20 cm, Find the penmeter of a third
whose area is equal to the difference

of the areas of these two squares.

(A) 32%fem  (B)- 36 &f/em

st 9 Rfl/eizr Y afe & wer U T
() 15 fire 3w @ | g A
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1_ fthe brid s - e

{7 =

T120
165
| 165

e 53



92. wrd andw i wE o fymmst el T gro |96, Wm A9 aita 9 A P # e gew
¥ 0 Ferel ) e g § |, 329 viges wadt =t om A g
DR @ o, e ot wé & freme wg%, ez, o1

Choose fhe Venn diagram which best
F T g0 ¥R T A W I K explains the relationship among given :

FTTh::'h ? s ’ Boys, Athletes, Students
Qut of the number o ucts so
® &

by company ‘T in March, April and (A)

May together, 32% were made of mild :

steel. What was the total number of mild | - (©) - (D)

sieel products sold by company T in |97, (Gfite 1 sreraa #t 3 37 At £ TEEE
March, April and May together ? R 71 Fae O T e aHa #

(A) 144 (B) 150 liagram and identify

(C)-155 D) 160

wah # w P, S ol T T AR M

TR shea TR 7 (o)

sold by company ‘P’, ‘S’ and T’

 February ? (Approximate)
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[01. S w1 A e & SR e
Rt 2Tl W SR & A @ I WER 0
0T ?

Which one set of letters when
sequentially placed at the gaps in the
given letter series shall complete it ?
MANO? MNNs Pu NOgPMyOPr

(A) MPMOONP (B) MPQNONM
(C)*MPOMONP (D) MPMONOP

102. o T Rt 3 & =g wd e w9
Sk sl

Choose the correct alternative from given
ones that will complete the series.

£:13.5:0924.5,30.4)
(A)35.5 (B)37.5 ()38 (D)4l

103, 2 Ry we i, v wee-gm g 2,
3% e fawe & w9 8 91 yegegm R
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(A) sftmfa.tem  (B) foia= .
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question below, a pair of wo

(A) Potentate : Kingsom
gg ;%:Edmmion
*Traitor : Country
(D) Jailor : Law
104, THEDE :VillFG BN
(A) CQWTP (B) C '
(C) DPWSP {pypm
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107.

o 2 7 1 AR 10 feet <o 2,
i ant yzal R 3R 6 ot ST 2, fost grd

15 fepelt =reran &, fo <t g3
e 2, et amd gga 3
3 | g =faa 39 o A fear

e & A
2 a6 Tt
1 foedt =
ZHme?
(A) 16 ot (B)- 6 fordt

(©) 25 feeelt (D) 12f&ft
A person moves from home position
towards east by 10 km, then turns right
and moves by 6 km, again turns right and
moves by 15 km, a&ain turns right and
moves by 6 km, then turns left and
moves by | km. How far the person is
from home position ?

\(A) 16 km (B) 6km

(C) 25 km (D) 12km

HEATE 3 & ®17 = aron
it & ;

Sl
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uestion below,
Eoll%wed. Y two nssum“ io:?s ;mﬁ::i:elg
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de which of the
the statement :
not sleep under
mptions ;
: ‘é‘hamling leaves may spoil our
+ Iree gives out carbon dioxi
(A, BN Which is injurious e
(o) Only mumpﬁm{lh implicit.
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(¢) | T, 2005 1 509 & stfem 30wt we = |
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Raman has obtained & recommendation
letter from the Panchayat Pradhan. &
has seven acres of cultivable land/and

&= % oAy W W AT |

Vinod Rai was born on 3% February, 4
056. He has six acres of cultivable land i
has submitted a recommendation

r issued by the Panchayat Pradhan
He doesn't have any unpaid loar
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You are stationed as a police officer; riols
erupt in a religiously sensitive locality

requiring reinforcement. You should :
(A) order lathi char
stones violating restrictions.

(B) fire tear gas shells to forcibly disrupt

violent mobs.
(C) work with community élders

appeal for peace and calme.
(D) conduct preventive

ge if groups /pelt

|

— TR
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ent cases ot an
mfm from MJ’:W; ‘baby A i;‘h_“ investigation as
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maternity ek d“ e L g m e
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a1 AR s ge By & (A}-amﬁﬁamaﬁmrtmﬂm%:

T TEA R | S (B) SyTitra @) uehe W1 e |

(A) Ryesas w1 d% o o Pereht ©) ﬂ!q’lﬂ?ﬁﬁgmmmtl
(@) 30T H I |

Tart ) g@ R |
(B) q@ﬁumﬁ%wﬁ@mﬁm

(A) One star (B) Two stars
it B (C) Three stars (D) Four stars
" |i26. v g st ¥ v 3, s e
. a3 w12 ffes W w it A

e
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SeTEAE FR B, ) M qfer g
§ wriaha w0 fRar wmr @ st sy
JAET VIR H1 YT $E@7 3 Pl 5
HET B R | 3w v R s uw
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(A) T w1 Y e aifte sk
st Roeh g § sz w1 #
ot st wfee |
(B) ST FI T It $Taz &8
H SR F1 1Ry 3R o f A
i o i 3flg el Wiy |
© " 3= w1 & srgEe e
T F T 3T TN (Suea) ik
9 w1 I e e
D)7 ¥ 5 s A
AT YEH % Fhe o

a0 faewre e 6 ot H AT
Frasifers seFes % w9 § eaure %T
et ek e oivamger w firerar & | 3o
(Ap i;r:fam$ﬁmn:rmsré‘5m??7 SHHT
ST T B TR FITS H e R |
(B) ¥4 #1e %92 % 4 & igt v ifaw
aifer fremre @ = s afa LA
(C) - i 1 I ek afeim
Sl
(D) qi&eg % fou qaa fem 1€ 3
I T HL A7 T1fEw |
When examining a bombed explosion site,
you find a damaged mobile phone potentially
used as timed detonator. You should -
(A) wrap it in . paper ensuring no
fingerprints disturbed.
(B) place it inside thick
explosion

... ensuring no further blast
(€) photograph original

fore handling, using anti—
__ static gloves,

position
(D) first dismantle parts like SIM card

cloth bag
damage.

® Hig = | ~and battery for separate evidence

e 0o inspector in-chagge of a | 121, ST 5 Foms o= e
police dation in a metropolitan c@' You \ TS : 57T 2
have hu_n-‘working,huﬂfm_,_ aintain law | | f% o F
&0 forder and prevent crimes i 1.

u‘o . ﬂmvm & '.tD ~ 80m = aﬁ
Tansferred 10 a waffic police unit where (B) ¥ smrem 8¢ % gften ITER
You have 1 manage the traffic flow and Wﬂ'ﬂ.‘fﬂ“ﬂ%&lmwﬁm
enforce the rules. You feel that this s 5 (©) sym % & w

waste of your skills and experience, Yo
shoulg - i i

(A) proteg against the transfer and
10 be reinstated in your

Previous role,
m}ﬂﬁceplliml.rmfefuam _
Setback and hope to get a

4P 1o the new role and learn the
Skills and challenges of traffic |
ment,

e PR e U




amm A B & R u o | Py, | suifen 8 et
read § =® v dieda dwh A @ o & m§ wft WAl W) we e B, 2
m | @ R, I T % g i ) neg Frswel s wre faram o @ 3 fofg
2 ¥ ) ovedn @ & W g e a1 R s 0l A @ w8 g A A o
e i e R | il & 3fm @2y @ 7 afds w9 3
#1: Pt B =) vt favare R s e M g /A 4/% |
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\3a, T e 2w % 2 o ) R 139, o e B Forers 7T 4 > |

b | vl 3 R wm 6 W W p— bR LRy

gt A w2 ot gt e ff) o ot 2 -
An u:r:leock?im's 2 O.M‘I[,:'ﬁh o & | 3 FAH 4 < 3 & fawfla wom

b oedkia 4 o ey o 0t & | T 3 x 3% e

"clock in the evening on the same day 7 3
ff\%ﬁnfm 125° (.',Tao' (Dp135° o gt d g § | 3 T H | A

138, Freferften st myﬂﬁm g et w12 e A e o T R | e
| ' i ‘a cuboid whose dimensions are

3 em. The opposite faces of

4 x 3 are coloured yellow

) faces of other dimensions

red red. The opposite
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9 fafven
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grete-faw W . FefwE (o
(A) waft (B)
(C)#12 (D) wh

Find suitable alternative in place of
question mark (7)

Botany : Plants : : Entomology : (7)
(A) Birds (B) Plants
(C) Insects (D) Snakes

;;hﬁ-“rﬁiﬂ w50 v R W # | o
S BEF F5 g favivani £ |
m::ﬁéﬁmafr{ﬁmél

(a) =& (B) 7&t

(C) =1 (D)«amem=

In the following question, some words
are given. They have sonde common
features except the odd ofe! You are

required to find odd one out.
(A) River (B) Canal
(C) Stream (D) Pond '

f B

Choose the correct alternative from given
ones that will complete the series :

15,8, 35, 24, 63, 48, (7)
(4) 88 (B) 92
€) 99 (D) 102

= F W A, “ZEBRA" W
WBYAI" & v i T e #
B2 # “TORCH" %1 #50 foren s 7

104 certain code Jungusge, “ZEBRA" is

131.

wled a5 WBYAJ". How will
mc’i'hewﬁnminlhnmwd-?

MIGRTY  (m) MHRSX

(D) MHITY

-... .. = ‘
(D) Daugl l {T,‘% 0 ®
'ﬁmm ﬂ([ " § A gt Y
M weni & #ﬂmmﬁq 1
3T T e W oy e s
‘“'lﬂnmi 18
T g
W SR), ¥
in the we k T
i . WS .
. -

4 fomeft s

FA & A ivaw G o am
R, fout wwt vt and s e B ofte 2 Pt
Teal B | a@w Ber & sroft =@ s a2
3§ ot wroven B | o e fig
Afeufamad 7

(A) aftym.qd (B) Fv.-gfrey
(C) ufyam (D) 3=

Kabir moves 8 km from East to West
direction, then he turns to his right and
moves 2 km, Again he tums to his right
and moves 5 km. In which direction is he
from his starting point ?

(A) South-East (B) North-West a
(C) West (D) North A

132 ?ﬂmfﬁﬁmﬁélm,rﬁﬁﬂﬁ?r;,

I H oo e R | S,

Q1 =1 wif B 1 vfvem, wify 3 fem v
Haifom 2 2

(Apsma (B3 |
(€) urt (D) A
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lﬂ.qhﬁqﬁm&nmmﬁz&nu&l ﬁmwﬂhmiﬂn?

R o) Ryerqem 8 | =
Choose the altenative which closely | 2 R 2>
resembles the mirror image of the given i fem
combination. ; s

L of the following option wauld be

(A) TNEMEGDUJ Vi
(B THAMIDAUL -w@uﬂmfﬁe following words ?

p—
r -

(C) TWAMIGAUL 1. Daoctor 2. Fever

(D) LUaDAMIAT 3. Prescribe 4, Diagnose
144, mmﬂﬁ-:fhmi T TFT . Medicine

), (@), (3) 30 (4) F A4 T ) 2,1,3,4,5 (B) 2,3,5,4,1

= s ' '

£)2,4,3,5,1 (D) 2,1,4,3.5

Clibte the figure which is different fom




